
Prior learning assessment  
Subtraction Year 6    

 
1) Subtract 100 from 456 

 
 
 
 
 
 
 
 

2)  287 - 9  
 
 
 
 
 
 
 
 
 

3)  18789 - 5012 

 
 
 

          

          

          

          

          

          

 

 

 



 
4) Subtract 32892 from 102120 

 

 
5) Calculate 30,000 – 500  

 
6) 12.89 - 3.3 = 

 
 

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

 

 

 



7) 20 – 4.99 
 
 
 
 
 
 
 
 
 
 
 

 
 
8)Sammy has been saving her pocket money. She has £25 to spend 
on clothes. She buys two tops and a pair of shorts. How much money 
does she have left?   

 
 
 
 
 
 
 

  

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

£9.99 £6.99 £12.99 

  

 


